
A2259300

P41050903-760000-00

H1   APS MBES 11-1D-D
MONOCHROMATIC BEAM

EXPERIMENTAL STATION ASSY.

9 11 E

.1   [2.540]

.03  [0.762]

.005 [0.127]

.25

125

    (DOUBLE DOOR LAYOUT)

   corcuera 4/18/95

SANCHEZ/CORCUERA4/2/95

T. SANCHEZ 4/21/95

C

1P41050903-870203-00
44

A2107900

3S
7

4S
7

7
2S

1S

FLOOR
INSIDE

.09 [2.30]

MAX GAP

6

7

8

F

7

(5.09
[129.30])

FRONT DOOR

 SECTIONC

(115.35

[2929.90])

1 REQ’D.

8

2

8

8

4

1

SCALE:1/4=1"

 DETAILG

6 M16 -ECCENTRIC BOLTS SS

7 NUTS FOR M16 SS

8 WASHERS FOR M16 SS

HD2-E BRG. ECCENTRIC, HEPCO-BISHOP

HDS-DOUBLE SLIDE HD500 SLIDE, 2M

HEPCO: EMCO, POBox 23413, MILWAUKEE, WI. 53223 C/O ELDEN E. MOLTER

5

9 SS

5/16-18 x 3/4 LG. SOCKET HEAD SCR.

19.23 [488.45]

6.66 [169.08]

(1.55 [39.30])

11.02 [280.00]

.82 [20.95]

2.00 [50.80]

14.94 [379.57]

5.00 [127.00]

3.16 [80.26] .92 [23.37]

1.23 [31.25]

6X Ø.34

.25 [6.35]

5/16-18 x 3/4 LG. FLAT HD. SCR. WITH HEX NUT

HO HUTCH DOOR PANEL L.H.  1/4" x 2.49M x 1.02MA2108100 P41050903-870201-00 1

45

SS

2

TYP.
[12.70]

.50

TYP.
[12.70]

.50

2.28 [58.00] 3/8 THK

H

J

F
SCALE:1/4=1"

 DETAIL 4 REQ’D. H
SCALE:1/4=1"

 DETAIL 5 REQ’D.

J
SCALE:1/4=1"

 DETAIL 5 REQ’D.

STEEL

11 GA (.120) [3.05]

7.00 [177.80]

[266.70]
10.50

MAX.

(39.37 [1000.00])

78.62 [1997.00]

(40.31 [1023.90])

(39.37 [1000.00])

45

(40.31 [1023.90])

1.97 [50.00]

3.94 [100.00]

1.18 [30.00]

.59 [15.00]

1.97 [50.00]

.98 [25.00]

2.00 [50.80]

.50 [12.70]

6.00 [152.40]

3.00 [76.20]

6.00 [152.40]

3.00 [76.20]

4.72 [119.81]

2.36 [59.91]

4X M10x0.75 THRU

WELDED ALL AROUND

ONE PIECE CONTR. IS ACCEPTABLE

5.43 [138.00] 10.00 [254.00]

2X M16 THRU

LOG N0.

2.00 [50.80]

4.00 [101.60]

96.00 [2438.40]

.09 [2.30]

98.00 [2489.20]

(CLEAR OPNG.)

(39.37 [1000.00]) (39.37 [1000.00])

C43

1

B

TOP OF FIN. FLOOR

(DOOR PANEL OPEN FOR CLARITY)

 ELEVATION
 A

E 1/8=1 1

1/8=1

SCALE:1/4=1"
B  SECTION

 DOOR PLAN VIEW
41

A

(.24 [6.10])

(3.10 [78.75])

AT CLOSE POSITION

(CLEAR OPENING)

HO HUTCH DOOR PANEL R.H.  1/4" x 2.49M x 1.02M

A2259300

P41050903-760000-00

H1   APS MBES 11-ID-D
MONOCHROMATIC BEAM

EXPERIMENTAL STATION ASSY.

10 11 E

.1   [2.540]

.03  [0.762]

.005 [0.127]

.25

125

    (UTILITIES)

   corcuera 4/18/95

SANCHEZ/CORCUERA4/21/95

T. SANCHEZ 4/21/95

 NOTES:

[3374.40])

(TYP)

(TYP)

46.00

[1168.40]

CLEAN

IN OUT

CHILLED
WATER

AIR

OFF

ON

CLEANCLEAN

ON

OFF

AIR

INOUT

CHILLED
WATER

LIGHTFAN

ON

OFF

REGULAR

DE

B

CLEAN POWER

REGULAR POWER

MANUAL DOOR OVERRIDE

120V POWER STRIP

MAIN LUG PANELBOARD

AA

120V CLEAN POWER

120/208V 1Ø POWER STRIP

120V CLEAN POWER

CHILLED WATER

COMPRESSED AIR VALVE

120/208V 3Ø POWER STRIP

120V CLEAN POWER

120V CLEAN POWER

LIGHTS

120V POWER STRIP

120V CLEAN POWER

120/208V 3Ø POWER STRIP

COMPRESSED AIR VALVE

CHILLED WATER

LIGHTS

MAIN LUG PANEL BOARD

EMERGENCY CRASH (REF)

PNEUMATIC DOOR CONTROLS
MANUAL DOOR OVERRIDE

ON

OFF

FANLIGHT
OPEN

INTERLOCK

MAIN LUG PANEL MAIN LUG PANEL

REGULAR POWER

CLEAN

DUPLEX RECEPTACLES

120V CLEAN POWER OUTLET STRIP
WITH FOUR 20A 120 VAC

AND ONE 20A 208 VAC 1Ø
TWISTLOCK RECEPTACLE

DUPLEX RECEPTACLES

UTILITY POWER OUTLET STRIP
WITH THREE 20A 120 VAC

CLEAN POWER

[457.20]
18.00

TYP.

(18.00 [457.20])

(12.00 [304.80])

AA

FIELD VERIFY

OR EQUIVALENT
HOFFMAN #F-44G120WK
4" x 4" TROUGH

REF.

5.00 [127.00]

1’ CABLE TRAY

REF.
CLEAN POWER TROUGH

SCALE: 2X
 SECTION

MAIN SWITCH DISCONNECT

 SECTIOND

(132.85

E  SECTION

 A

 SECTIONB

E 1/16=1 1

1/16=1

SHT. SHOWN

LEGEND:
DET./SECT.

 SECTIONC

 PLAN VIEW A

BEAM

C

120/208V 1Ø POWER STRIP

REGULAR

UTILITY

30
A

 2
08

 1
Ø

UTILITY

30
A

 2
08

 1
Ø

UTILITY

30
A

 2
08

 1
Ø

UTILITY

30
A

 2
08

 1
Ø

CLEAN

WITH THREE 20A 120 VAC
UTILITY POWER OUTLET STRIP

DUPLEX RECEPTACLES

TWISTLOCK RECEPTACLE
AND ONE 30A 208 VAC 3Ø

DUPLEX RECEPTACLES

UTILITY POWER OUTLET STRIP
WITH FOUR 20A 120 VAC

120/208V 1Ø-

120/208V 3Ø-

120V POWER-

84.00
[2133.60]

CLEAN

FOR UTILITY POWER

A2259300

P41050903-760000-00

H1   APS MBES 11-ID-D
MONOCHROMATIC BEAM

EXPERIMENTAL STATION ASSY.

11 11 E

.1   [2.540]

.03  [0.762]

.005 [0.127]

.25

125

    (CRANE)

   corcuera 4/18/95

SANCHEZ/CORCUERA4/21/95

T. SANCHEZ 4/21/95

[2451.10]

96.50

MANUAL HOIST

X-Y-Z  1 TON

WORK STATION CRANE

11.00 FT.[3.35M] SPAN  x 17.00 FT.[5.18M] RUNWAY x

I-BEAM CLIP

10.00 FT.[3.00M] CLEAR HEIGHT WITH CAPACITY 1000 Kg.[1 TON].

 SAFETY OVERLOAD DEVICE OR EQUIV.
-‘‘BUDGIT USA’’ MANUAL CHAIN HOIST WITH CAPACITY 1000 Kg.[1 TON] WITH

-‘‘GORBEL’’ CEILING SUPPORTED WORK STATION X-Y TROLLEY OR EQUIV.

NOTES:

[3374.40])

REGULAR CLEAN

IN OUT

CHILLED
WATER

AIR

OFF

ON

CLEAN REGULAR

LIGHTFAN

ON

OFF

C

B

 SECTIONC

(132.85

 A

 SECTIONB

E 1/16=1 1

1/16=1

SHT. SHOWN

LEGEND:
DET./SECT.

 CRANE PLAN VIEW A

BEAM

132.00 [3352.80]

204.00 [5181.60]

REGULARREGULAR


